
COSMOGRILL 01/2019



2           COSMOGRILL 01/2019



3											         COSMOGRILL 01/2019



4											         COSMOGRILL 01/2019



Carbon Monoxide (CO) is produced when a fuel such as charcoal, gas or petrol burns
incompletely. This could be because an appliance isn’t working properly or might simply
happen as part of its normal function. Barbecues, for example, produce Carbon Monoxide
even when they are working well.

Carbon Monoxide is colourless, odourless and poisonous. In high concentrations it can kill swiftly. In smaller

concentrations CO poisoning can give symptoms similar to flu or food poisoning. Look out for headaches,

nausea and vomiting, dizziness, drowsiness and weakness - but the best advice is to avoid any chance of

being poisoned in the first place.

Never take a barbecue into an enclosed area, including tents, EVEN IF YOU THINK IT’S COOLED DOWN.

A warm, smouldering barbecue gives off plenty of poisonous Carbon Monoxide (CO), which can kill.

Never use a fuel-burning appliance to heat an enclosed area. Gas and kerosene heaters should only be

used outside. Stoves and barbecues are designed for cooking not space heating.

Never run a gas, petrol or diesel-powered generator within an enclosed area.

Don’t cook inside an enclosed area, unless there’s an area specifically designed for this purpose and

that provides adequate ventilation.

Always have gas appliances serviced regularly.

You cannot smell, taste or detect Carbon Monoxide but it can kill quickly and without warning.

Symptoms are similar to flu or food poisoning. Look out for HEADACHES, NAUSEA, VOMITING, DIZZINESS,

DROWSINESS and WEAKNESS.

WHAT IS CARBON MONOXIDE?

SAFETY ADVICE

For more information visit nhs.uk/carbonmonoxide

5



qty

 1

 1

 1

 1

 1

 1

 1

 1

 1

 2

 1

 1

 1

 1

 2

 

 Code

 16

 17

 18

 19

 20

 21

 22

 23

 24

 25

 26

 27

 28

 29

 30

 31

qty

 1

 1

 2

 1

 1

 1

 1

 1

 1

 2

 2

 2

 8

 2

 2

 2

Part

Lid assembly

Chimney assembly

Thermometer

Lid handle

Fire Box Left Panel

Fire Box Front Panel

Fire Box Back Panel

 
Fire Box Right Panel

warming rack

Cooking grill

Adjustable Charcoal Pan

Charcoal pan Adjustment Crank Handle Threaded 
Mount

Charcoal pan crank handle

The left cart leg assembly

Leg End Cap

The bottom shelf

The right cart leg assembly

wheel

wheel axle

The back support leg assembly

Bottle opener

The charcoal door

The ash pan handle

ash pan

Air Vent

Side table front bracket

Side table back bracket

The hook

The side table

Lower Hinge

upper Hinge

 Code

 1

 2

 3

 4

 5

 6

 7

 8

 9

 10

 11

 12

 13

 14

 15

COSMOGRILL 01/20196



7											        

Parts Diagram

COSMOGRILL 01/2019



8											        

Supplies

E2 M6x35 Bolt 8PCS
E5 M6 NUT 5PCS

E1 M6 BOLT 53PCS

E7 HINGE BOLT 2PCS

E10 LID PIN 2PCS

E8 R PIN 5PCS

93437

E3 M6x30 BOLT 4PCS

E6 M8 WASHER 2PCS

E4 M8 NUT 2PCS
E9 M6 SHOULDER BOLT 8PCS

COSMOGRILL 01/2019



9											        

TOOLS NEEDED FOR ASSEMBLY: 

	 - Medium size flat blade or Philips/cross-point screwdriver
	 - Adjustable spanner or metric spanner set 

This barbecue requires two people for assembly. Please remove all packaging materials from all 
individual parts before assembling. Please lay out all nuts and bolts and check lengths before 
assembling. Whilst every care is taken during the manufacture of this product, care must be 
taken during the assembly in case sharp edges are present. 

COSMOGRILL 01/2019

For any spare parts or customer support, please email: support@evre.co.uk



10											        

O=

1

7

6 8
E1

2

6

7

5

E1

COSMOGRILL 01/2019



11											        

3

E5

5
825

E1

E5

25

E1

4

11

12

E1

COSMOGRILL 01/2019



12											        

5

22

E8

E7

6

E1

21 6

COSMOGRILL 01/2019



13											        

7

13

E8

8

30

7

E2

COSMOGRILL 01/2019



14											        

9

15

E3

14

10

18

17

19

E4

E4

E6

E6

COSMOGRILL 01/2019



15											        

11

16

E1

E1

12

20

E1

E1

COSMOGRILL 01/2019



16											        

13

E1

E1

29

E1

28

14

COSMOGRILL 01/2019



17											        

15

27

26

E1

16

29

E9

E9

COSMOGRILL 01/2019



18											        

17

27

26

E1

18

29

E9

E9

COSMOGRILL 01/2019



19											        

19

1

4

E1

20

3

1

COSMOGRILL 01/2019



20											        

21

2

1

E5

E1

22

1

31

31E2

COSMOGRILL 01/2019



21											        

23

E10

E8
E8

24

9E3

E3

COSMOGRILL 01/2019



22											        

10

25

E1

24

26

23

27

COSMOGRILL 01/2019



											          COSMOGRILL 01/2019

CosmoGrill Accessories available for your Barbecue

CosmoGrill Cast Iron Cooking Grid for Smoker 93437

CosmoGrill Barbecue Cover

CosmoGrill Barbecue Pizza Stone

CosmoGrill Barbecue Grilling Utensils Kit

CosmoGrill Barbecue Charcoal Chimney starter

CosmoGrill Barbecue Grill Gloves

CosmoGrill Barbecue Grill Mat 




